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export default class Holiday {
checkValentinesDay () {
const today = new Date() ;
const month = today.getMonth () + 1;
const day = today.getDate () ;
return month === 2 && day === 14 2 "[EAEIREE ' . 'SKXIA2FEAE';
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describe ('SXEBRBEAEHE? ', () => {
SRIW/AE ', O => {
const holiday = new Holiday () ;
const res = holiday.checkValentinesDay () ;
expect (res) .toBe ("B ANETRE ")
b) g
}) g
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export default class Hollday {

----------------------

const today =|new Date() ; — B2 KE, FTUFRBARXREGE B1Z
const month = today.getMonth () + 1;

const day = today.getDbhate () ;

return month === 2 && day === 14 ? "[EAEIRE"' . 'SXKF2BEANE ' ;
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1. export default class Holiday {

2. getToday () {

3. return new Date () ; 34 B R R
4. }

5.

6. checkValent::;;B;;ﬁh\Qer

7. const today =|this.getToday ()

8. const month = today.getMonth () + 1;
9. const day = today.getDate () ;
10. return month === 2 && day === 14 7
11. }
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holiday.test.js
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1. describe ('SXZIEAEIE? ', function () { "
2. BEANE 2/14', () => { ’
3. const holiday = new Holiday () ; Test Suites: 1 passed, 1 total
4. holiday. getToday = jest.fn(); .Sr::::i:\ots: ; Ec)(a)i:id, o
5. holiday. getToday .mockReturnValue (new Date ('2021-02-14")) j Time: 2.025 s
6.
7. const res = holiday.checkValentinesDay () ;
8. expect (res) .toBe ('fEAEIREE ") ;
9. b)) ;
10. X
11. SERZEAE 2/12', () => | Mock BB =Rk
12. const holiday - new Holiday () HRRIE T oK Bl s
13. holiday. getToday = jest.fn () ZEEqﬁﬁ
14. holiday. getToday .mockReturnValue (new Date ('2021-02-12"));
15.
16. const res = holiday.checkValentinesDay () ;
17. expect (res) .toBe ('§RAZIEANE ")
18. }) g
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export default class Holiday {

checkValentinesDay () {
const today = this.getToday ()

const month = today.getMonth () + 1;

const day = today.getDate();
return (month === 2 || month === 3)
ERANE
}
}
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descrlbe '"SEKEFAEE?, function () {
it ( ZENE 2/14, () => |
const res = holiday.checkValentinesDay () ;

expect (res) .toBe ("[EAEIIRE ")
});

it ("SREBEANE 3/147, () => {
}),:

("SRAZEANE 4/14", () => {
});“

t("SERAZEANE 2/127, () => {
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t("SRIBB/AE 2/14', () => { " s
e it o FEEIEIE
cons oliday = new Holiday() ;
o H=H

holiday.getToday.mockReturnValue (new Date ('2021-02-14")) ;

holiday.getToday = jest.fn();

const res = holiday.checkValentinesDay () ;
expect (res) .toBe ("G ANEIREE ) ;
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Test Suites: 1 passed, 1 total

VAT B E | A8 v Tests: 4 passed, 4 total
( SRERAH 2/14 ! > Snapshots: @ total
Time: 1:555 s

const holiday = new Hol\day();
holiday.getToday = jest.

holiday.getToday.mockReti§nValue (new Date ('2021-02-14")) ;

shouldBeValentinesDay (holiday.checkValentinesDay () ) ;
1)
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it ("SREEAE 2/14', () => { ENES

const holiday = new Holiday();

-~

holiday.getToday = jest.fn();
holiday.getToday.mockReturnValue (new Date ('2021-02-14")) ;

shouldBeValentinesDay (hol#GAy.checkValentinesDay () ) ;
)i

beforeEach (() => <4:::1;7
holiday = new Holiday/);
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mockGetToday = jest /ffin();

holiday.getrod etron FIF givenToday B2 E L FRI B EA
oliday.getToday = mockGetToday;
b ; , W EIR ISR ER BT EESE

& / 0 = beforeEach |,

givenToday ('2021-02-14");

shouldBeValentinesDay (holiday.checkValentinesDay ());
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